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FA: HsEAEN
M 2SS 2AT AH(SHUBT/HR)
Hel: M=E3SSE8 HEs 54 (ctel: &
SN I SRI(S) - NRAY - B 01l &t o Soe B RS2
O=2Aldl 378,000
O&z2=+¢ 129,650
OJHAIXI &bl 259,290
Osd=d 252,000
O EF It 185,580
oael=¢ 236,400
4= 14,400
-2 Xl 6,000
- = 216,000
O&E=H 15,600
—Hi < Xt 9,600
-S2IE 6,000
O==d| 84,000
OXxa3 50,000
OdXIEd ¥ UalE ol 452,900
O&Xl=&tl 234,200
-—=SHEH 99,200
-=2&H 135,000
O3 Z Il 218,700
—=2 83,700
=g 135,000
405 AHoHESHI 30,000 0 30,000
01 ML ESHSHI 30,000 0 30,000
OAEE=EE AOCIEIF FY 30,000
SHBUR st & d+ S4 720,000 720,000 0
703 DEHISEHIES 720,000 720,000 0
01 W=HISEIHNEES 720,000 720,000 0
OBURHs HdE=d 160,000
O&LIRE W NE=2F 560,000
MSIIEAIE &= 30,787,052 17,819,352 12,967,700
& 11,470,000
Il 9,500,000
= 9,817,052
HEAE 25 243 13,952 15,152 A 1,200
201 Ler2d] 500 2,000 A 1,500
01 AtS 22l 500 2,000 21,500
OXM=AE 2T+ MZ 500
202 O4Hl 13,452 13,152 300
01 =LA bl 13,452 13,152 300
OSENMSALEY HEs & HEEH 7,102
OZZHSAE HEMY =8 6,350
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M
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SRl HMSIIBAIL =3 (ctol: @
_ _ _ Muo
A -3 -H2A(SH) - HEAMY - BES O AF K 'oﬂ/'\_WH Hlws2

ZBUSAE =5 2,850,000 3,600,000 AT750,000

403 XX S HSKHE0IH 2,850,000 3,600,000 AT750,000

01 XtXISHAR=E X 2,850,000 3,600,000 AT750,000
OBZZHSAE 2= 850,000
OLATOAMEHS X 2,000,000

X ZHSD AY(2D) 4,400,000 1,466,800 2,933,200
= 3,000,000
= 1,400,000

403 XIS S X201 & 4,400,000 1,466,800 2,933,200
2 3,000,000
= 1,400,000

01 HXIESHIEEE 4,400,000 1,466,800 2,933,200
OR=ZSHSY 28 4,400,000
= 3,000,000
[ 1,400,000

Sol ¥2E7% 24(=22) 1,466,700 1,466,800 A 100
2 1,000,000
= 466,700

403 REXISHH S X201 ™ 1,466,700 1,466,800 100
2 1,000,000
= 466,700

01 HXIESHA=EE 1,466,700 1,466,800 A100
OSH MEERY =4 1,466,700
= 1,000,000
T 466,700

SO MAMHHSAL T&(2D) 1,202,700 733,400 469,300
z 820,000
= 382,700

403 XIS S X201 X 1,202,700 733,400 469,300
2 820,000
= 382,700

01 HXSHR=EE 1,202,700 733,400 469,300
OSH HHMEBHSAE =4 1,202,700
= 820,000
= 382,700

28 SUSEMSBY X&(22) 1,466,700 1,083,400 383,300
Z 1,000,000
= 466,700

403 XX SHH S K20l F 1,466,700 1,083,400 383,300
2 1,000,000
= 466,700

01 HXSHELEE 1,466,700 1,083,400 383,300
OHH SUSHHNSZH =4 1,466,700
= 1,000,000
= 466,700
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HE H2ESAEIEEE =4(21) 2,053,400 586,800 1,466,600
1,400,000
653,400

H o

403 XXM SA=01H 2,053,400 586,800 1,466,600
1,400,000
653,400

H o

01 MHXSHHMAEEE 2,053,400 586,800 1,466,600
oBE 2dEsddXedd =4 2,053,400
1,400,000
653,400

H o

StE s HE(=22) 733,400 733,400 0
500,000
233,400

H o

403 XXM SA=01d 733,400 733,400 0

500,000
233,400

H o

01 MXIEMAZ2E X 733,400 733,400 0
Ostd M=2 AE 733,400

500,000
233,400

H o

DE HIAEXEZ ZH(21) 880,000 293,400 586,600

600,000
280,000

H o

403 XXM SA201H 880,000 293,400 586,600

600,000
280,000

H o

01 MHXIEHMA=ZE = 880,000 293,400 586,600

O1NE HUAZXEZ X4 880,000
600,000
280,000

H o

42 AIOIZ2ZDE A (2 12) 2,346,700 2,200,000 146,700

,600,000
746,700

H o

403 A XIEHSXH=01H 2,346,700 2,200,000 146,700

,600,000
746,700

H o

01 THXIEHMA=ZE = 2,346,700 2,200,000 146,700

O MOIZEINE HE 2,346,700
,600,000
746,700

H o

3 e MEMS2 AE(21D) 733,400 0 733,400
500,000
233,400

H o

403 XXM SK=01H 733,400 0 733,400

500,000
233,400

H o
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01 TUXIEHMAZE = 733,400 0 733,400
OZ= HH dSHs2 28 733,400

500,000

233,400

H o

Sofl o1& & (=21) 733,400 0 733,400
500,000
233,400

H o

403 XXM SA201H 733,400 0 733,400

500,000
233,400

H o

01 TXIEHMAZE = 733,400 0 733,400

o=l 2EEoIIE =4 733,400
500,000
233,400

H o

& MUHULAEY Z4(=1) 146,700 0 146,700

100,000
46,700

H o

403 A XIEHHSXH=01H 146,700 0 146,700

100,000
46,700

H o

01 TXIEMAZE = 146,700 0 146,700
HLAZY AE 146,700

100,000
46,700

H o

M DE T4 24(21) 220,000 0 220,000
150,000
70,000

H o

403 XXX SA=01S 220,000 0 220,000

150,000
70,000

H o

01 TXIEHMAZE = 220,000 0 220,000

odd st Z&H x4 220,000
150,000
70,000

H o

da LoA2AMSAE 2E(=1) 440,000 0 440,000
300,000
140,000

H o

403 AXHHSK=01H 440,000 0 440,000

300,000
140,000

H o

01 TXIEHMAZE = 440,000 0 440,000

O0gd elAANMSAE =4 440,000
300,000
140,000

H o

=Z A 2RHSHH A (=1) 2,700,000 0 2,700,000
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2. MFIIBAIE &5 (cte- &
S EH . S(BH) - NEAY - B2 0fl Ak o gggf; HDE2

J| 2,700,000

403 NXISHHSA20lH 2,700,000 0 2,700,000
J| 2,700,000

01 XXESHA=2ExR 2,700,000 0 2,700,000
OZ=x=Al 200HESHAH HE 2,700,000
J| 2,700,000

242 ZUNSHE HE(=1) 2,000,000 0 2,000,000
J| 1,800,000
& 200,000

403 MXISHHS K20 2,000,000 0 2,000,000
J| 1,800,000
& 200,000

01 MIXSHXE2EX 2,000,000 0 2,000,000
Ogd =200MFHEH HE 2,000,000
J| 1,800,000
== 200,000

Az 200HSHEH HE(21D) 1,300,000 0 1,300,000
J| 1,100,000
& 200,000

403 MXISHHSA20H 1,300,000 0 1,300,000
J| 1,100,000
c 200,000

01 RIXISHMAZ2E X 1,300,000 0 1,300,000
O8N =20IMEHEH HE 1,300,000
J| 1,100,000
== 200,000

HAIE E 2t 1,000,000 1,000,000 0

403 XXISHHSA=201H 1,000,000 1,000,000 0

02 Z2I|2S0HCHSHOHEH AL HI 1,000,000 1,000,000 0
OSHAEZXAIALE FE2L 1,000,000

g2 Z20IHSHE HE(=2D) 2,800,000 0 2,800,000
J| 2,800,000

403 XMXISHHSA20|H 2,800,000 0 2,800,000
J| 2,800,000

01 XXESHA=2ExR 2,800,000 0 2,800,000
OY g =20HHE HE 2,800,000
J| 2,800,000

EX 200HSHH HE(=21D) 1,300,000 0 1,300,000
J| 1,100,000
& 200,000

403 MXISHHSA20H 1,300,000 0 1,300,000
J| 1,100,000
= 200,000

01 RIXISHMAZ2E X 1,300,000 0 1,300,000




A H

ot

HE: s Mg AT S (2L 2Z/HS)
A
=

&2l MFIIEHAIE &5 (ctel: &
SN HH G (EH) - MBAY - BYS 01l &k o Soe s
O2d =0HM=sdH 28 1,300,000
| 1,100,000
L= 200,000
d=dz N3 HH =4 9,612,878 10,095,977 A483,099
Il 142,000
& 9,470,878
T Mot MEHA 29 - NE 8,400,000 8,747,000 A 347,000
307 212t01& 8,400,000 8,747,000 A 347,000
02 2ItFAEX 8,400,000 8,747,000 A 347,000
ocHM=ss X&E 6,024,000
OZHMAM=2l XA 1,376,000
OdExM=3 XA 1,000,000
ZOHeIN s 43t 56,466 54,965 1,501
202 (4 HI 6,266 4,765 1,501
01 =W 6,266 4,765 1,501
OFML XN=&s N 6,266
307 212t01& 50,200 50,200 0
04 QIRFHAIE X 50,200 50,200 0
OO X=CHsl X 50,200
=02 izl & &t 960,000 1,035,000 AT75,000
307 QI2t0IA 960,000 1,035,000 275,000
04 CIZFSALE X 960,000 1,035,000 A75,000
OdelE & MaH=sUs X3 480,000
O¢dld HMsHA XS 180,000
ON==0dEHsSUH=A &t 80,000
OZRATMEM=UE Mzl X 80,000
oMEM=s SSEUI Kzl XA 100,000
o=z M&N=Uza &t 40,000
M=sUsg 24835 19,412 19,412 0
201 LetEHH| 2,000 2,000 0
01 AFR22lH| 2,000 2,000 0
OUzR3A &4 ¥ =2 S M 2,000
202 (4 H| 17,412 17,412 0
01 =Wl 17,412 17,412 0
OXM=Uz Mzl & X 16,412
OXM=HHd =4 XN& 1,000
Zofol MEMSHS HE(=1) 70,000 50,000 20,000
Il 35,000
& 35,000
307 212t01& 70,000 50,000 20,000
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B YE R YAT ME(SHUBT/S)
crel: HMSOE Y SN =4 (el @R
SA-E . S(E) - MEAY - BES 01l &4 24 e HIRE

Il 35,000
= 35,000

04 QIZtAALE X 70,000 50,000 20,000
OUHEHOHA MBS MW 70,000
Il 35,000
= 35,000

MM E28d X (=) 107,000 0 107,000
Il 107,000

307 2120l & 107,000 0 107,000
Il 107,000

02 QIHFAE X 107,000 0 107,000
OX2F B@bl N 107,000
Jl 107,000

MEs SO ot 2,178,587 1,901,848 276,739
Il 2,079,830
& 98,757

MEYSAEA BIX(213) 1,182,432 1,182,432 0
Il 1,182,432

308 XXX SOIE 1,182,432 1,182,432 0
Il 1,182,432

01 XM EXS 1,182,432 1,182,432 0
OMEMEX Xt BHXI 1,182,432
Il 1,182,432

Hzdl Msgs N (22) 500,416 500,416 0
Il 469,952
S 30,464

307 2120l A 60,928 60,928 0
Il 30,464
< 30,464

02 BlHANEX 60,928 60,928 0
oz M=sgs N& 60,928
Jl 30,464
= 30,464

308 XX HHSOIA 439,488 439,488 0
Il 439,488

01 MXEMISELS 439,488 439,488 0
onzd M=sgs N3 439,488
Il 439,488

HSHRH™ AEASE(22) 388,375 144,000 244,375
Il 357,714
= 30,661

308 KNXIHHMSOIH 388,375 144,000 244,375
Il 357,714
S 30,661
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M Us HS AT AH(2ILBE/AS)
el MBS COIEO = (==L

}\ X xH Cte| (3 IS C‘}\O'l HAEZ A} OH X‘—-IL‘EL‘:— 2JF
01 XM EXS 388,375 144,000 244,375
OAZLRHIRX AIBALY 388,375
Il 357,714
= 30,661
gHss 22 XA(22) 77,364 0 77,364
Il 69,732
L= 7,632
307 QI2t0IA 15,264 0 15,264
Il 7,632
& 7,632
02 QI3 aEx 15,264 0 15,264
O dEHN=s2 XN 15,264
Il 7,632
= 7,632
308 NXHHSOIH 62,100 0 62,100
Il 62,100
01 XM EXS 62,100 0 62,100
OAN=z dEM== X 62,100
Il 62,100
AFCE S8 L9 A2Y 30,000 0 30,000
201 Let2gl 30,000 0 30,000
03 A2 ZHI 30,000 0 30,000
OZ& FCXIAE XM =4 24 30,000
T 2Mus 43t 189,715 117,000 72,715
= HH=EN= 189,715 117,000 72,715
201 Let2d| 37,905 21,900 16,005
01 AtE22(Hl 9,600 2,300 7,300
O=NM=s=u= 9,600
03 HAI2SHI 28,305 19,600 8,705
O=HMENF 28,305
202 O4Hl 3,000 1,600 1,400
01 =Yl 3,000 1,600 1,400
O=2HMHELE F& 3,000
301 YptsBag 141,310 93,500 47,810
07 212te1=2| (4 H| 19,500 58,900 A 39,400
O=HMsESN=I 19,500
08 QIeI=&E NI 107,350 26,000 81,350
O=HMs=NI 107,350
10 EAIAHIE A= 14,460 8,600 5,860
O=NMsEW= 14,460
307 212t01& 7,500 0 7,500
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A HEEALEL

HE: 0l dE HaAE SH(AMS

o9l HAW S4 T2 29

0t

_ _ N E
SN ISR (SH) - arey e HRE2

01 XM EXS 29,000 29,000 0
OANZT SE+EAMNE FAURERAI =2 29,000
Il 29,000

XN HLAEERA™S 2 (=21) 37,000 37,000 0
Il 32,000
= 5,000

307 GI2+0I A 10,000 10,000 0
Il 5,000
= 5,000

10 AtRIZXEX 10,000 0 10,000
OFAE 03 29 10,000
Il 5,000
< 5,000

308 NXISHHSOIH 27,000 27,000 0
Il 27,000

01 MXEHIAELS 27,000 27,000 0
oOFAYE F0ESZ 27,000
Jl 27,000

NgHE3LAEHESIEME 29X 289,553 254,000 35,553
Il 115,821
& 173,732

307 2120l & 289,553 254,000 35,553
Il 115,821
& 173,732

10 AtBI=SXIE X 289,553 0 289,553
ONLHAHESHE 289,553
Il 115,821
S 173,732

NEHE3LAEHESSISHE At 193,035 182,870 10, 165
Il 77,214
& 115,821

307 QI2t0IA 193,035 182,870 10, 165
Il 77,214
& 115,821

10 AtaI=SXE X 193,035 0 193,035
ONLHAHESKAMY AISXA 193,035
p] 77,214
S 115,821

S3FEANE T2 2H(= 73,400 109,000 A 35,600
Il 69,400
< 4,000

307 S12t01& 8,000 12,000 4,000
Il 4,000
& 4,000

10 At2ISXEX 8,000 0 8,000




SN HSHAED
2 g ME BAE SH(AESK/ 0l - Ha)
Sl HAE S4 Z20Y 29 (25l &2
_ _ HE T
SAN-ZH-SA(FA) - NFAY - BES Off &F OH Ol AF o8 Hws2

ORZHAELBAL Z2 8 29 8,000
| 4,000
= 4,000

308 XHXISHHISOIH 65,400 97,000 £31,600
] 65,400

01 RXESHBARES 65,400 97,000 £31,600
ODTHAELAL T2y 29 65,400
] 65,400

TTLUAL BAETSA BHXI(2D) 269,760 279,750 £9,990
| 260,040
= 9,720

307 QI2H0|H 19,440 19,440 0
| 9,720
= 9,720

10 AEISXIE 19,440 0 19,440
OHASENCAF Xl N 19,440
o] 9,720
= 9,720

308 X+XIEHHIS O & 250,320 260,310 ~9,990
| 250,320

01 MHXSHHZAHSEZ 250,320 260,310 £9,990
OBAENGCAF Xl N 250,320
| 250,320

HAW 2HE 2Y(22) 170,000 171,600 A1,600
o] 136,000
= 34,000

308 XHXIEHH SOIH 170,000 171,600 A1,600
| 136,000
= 34,000

01 MHXSHBABES 170,000 171,600 A1,600
OHAHSHE 2Y 170,000
| 136,000
= 34,000

HAE S0l ES(=2D) 30,000 33,600 3,600
o] 24,000
= 6,000

308 XHXIEHH SOl ® 30,000 33,600 3,600
o] 24,000
= 6,000

01 MHXSHHZABEZ 30,000 33,600 3,600
CEPNEN-JICIE5 F! 30,000
| 24,000
= 6,000

HAUPS U NE BS 3,432,820 3,419,766 13,054
= 980, 000




S - HB SR (BIH) - ALY - o S D=2
| 1,261,403
&2 122,000
= 1,069,417
AAUES ¥ E2SYR 2,573 5,573 23,000
202 O4Hl 2,573 2,573 0
01 =AYl 2,573 2,573 0
OHAEES U HE BE ALEZ 2,573
2QHE FaE EXNSH 83,000 83,000 0
307 GI2t0I & 23,000 23,000 0
10 AtaI=XIEX 23,000 0 23,000
AW CIHY &Y X 15,000
OHIZ & W S0 A 8,000
308 XX HHSOIA 60,000 60,000 0
01 HXSHBLEXS 60,000 60,000 0
OoHlEn&n 2EX 60,000
dad dE B35 32,000 34,000 A 2,000
201 LBt A 3,000 0 3,000
01 AtS22lHl 3,000 0 3,000
OZRAET stEHEM XA 3,000
307 QI2t0IA 29,000 34,000 A5,000
10 AlI=SXIEX 29,000 0 29,000
Ostn=Es YIS 10,000
OstwE HtZ=2 el 10,000
OEeHa A StOtS=H 9,000
AU AEXJNEH 2 244,000 244,000 0
2 122,000
< 122,000
307 212to1& 244,000 244,000 0
= 122,000
L= 122,000
10 At2ISXEX 244,000 0 244,000
OELAFMGRAMEH 22 244,000
= 122,000
& 122,000
HAiE SUIAIY 29(21) 278,782 299,988 A21,206
J| 205,491
= 73,291
307 212t01& 146,582 157,488 210,906
| 73,291
L= 73,291
10 At2ISXEX 146,582 0 146,582




A HEEALEL

0l de HAE SH(AMISX/L0 - FAaH)
o9l HAUES Q NG BS EER-E)
SH-EH . O3 - MBAY - BAS 0l &b o Soe HRZ2

OFAESHEZ S 2 146,582
Dl 73,291
== 73,291

308 NAXHMSOIH 132,200 142,500 A 10,300
| 132,200

01 XRXSHHBAEEZ 132,200 142,500 A 10,300
OFAESHINEZZ)H 2H 132,200
Jl 132,200

HAESSXNIMA 2= N (=210) 781,000 794,000 A 13,000
Dl 593,000
= 188,000

307 QIz2to| A 376,000 362,000 14,000
Jl 188,000
= 188,000

10 ASISXIEZ 376,000 0 376,000
Ok HAEUSENAXNHZS 376,000
| 188,000
& 188,000

308 AFXIEXHSO0I& 405,000 432,000 A 27,000
J| 405,000

01 MXSHHNENEXTS 405,000 432,000 A 27,000
OAZ ELESEXNENAHTAS 405,000
J| 405,000

HAGEH S2Y(=21) 574,824 474,068 100,756
J| 287,412
= 287,412

307 2I2H0| A 574,824 474,068 100,756
| 087,412
= 287,412

10 AISISXIEX 574,824 0 574,824
OSII&H (220 A) 345,460
Jl 172,730
= 172,730
CESPIEEISICS ENY 229,364
Jl 114,682
= 114,682

HAEUMLRSMEH X 89(21) 234,000 218,000 16,000
Il 175,500
= 58,500

307 QIz2to| A 117,000 109,000 8,000
Dl 58,500
= 58,500

10 AISISXIEX 117,000 0 117,000
O FALAEMHEISHEEH &X - 2Y 117,000
Dl 58,500




A HEEALEL

Hal: 0 8 BAW SH(ASEX/C0 - HAH)
Celr HAUYS 9 MG BE (e
_ _ SIEN
SN EHH L OR(BH) - HRAY - BYS kol 0l ot o Hmz2

< 58,500

308 XHXIEHHI SO 117,000 109,000 8,000
p 117,000

01 MHASHMALSES 117,000 109,000 8,000
OAZ BArEL25H4 117,000
g 117,000

Al SISOBIEI0N 2H( 958,641 806,137 152,504
= 858,000
= 100,641

307 212+0IH 201,282 203,774 ~2,492
= 100,641
= 100,641

10 AEIZREE 201,282 0 201,282
O #It= OF3tHl 0l 201,282
=2 100,641
= 100,641

308 XHXISHH SO 757,359 602,363 154,996
= 757,359

0 IXCSHMALEES 757,359 602,363 154,996
OAIZ IH= Op3tel 0l 757,359
= 757,359

AURHER HH(2D) 34,000 36,000 A2,000
=2 17,000
= 17,000

307 2120l H 34,000 36,000 A2,000
= 7,000
= 17,000

10 AElZXEZ 34,000 0 34,000
CF=PNEETEEEIIN 34,000
= 17,000
= 17,000

FHAE MY XA (2D) 150,000 150,000 0
= 105,000
= 45,000

307 2120l H 150,000 150,000 0
= 105,000
= 45,000

10 AEl=ZXEZ 150,000 0 150,000
oMM SCUE 2Y 150,000
= 105,000
= 45,000

HAESRAIL D5 2 2 60,000 0 60,000

307 2120l H 60,000 0 60,000

10 Alsl= X2 E 60,000 0 60,000




SA: HSHAED
Hal: 0l 4 Had
ol BAUES U M

H 10
%
>
ton
Ju
>
-
o
0%
k-
im

_ _ bSNE =
2N -3 - c2(3H) - NEME - HES Ol AFoH @;OH Hl =2
OHAELRHAIL Js 2 2YNA 60,000
HAE AL &= 5,363,916 5,473,516 A 109,600
2 4,238,000
[= 1,125,916
HAE AL &= 1,620 1,620 0
202 o4 1,620 1,620 0
01 2oy 1,620 1,620 0
OXAELHAL YR EX 1,620
HZEXY HAESFAL HE 2,296 2,29 0
202 OfH] 2,296 2,29 0
01 2o 2,29 2,296 0
OFAEMSIHE AHE F=& 2,296
HAESEAL E4(2D) 888,000 1,886,000 998,000
2 888,000
403 AXISHER=201E 888,000 1,886,000 998,000
2 888,000
01 MXSHMA=2E=x 888,000 1,886,000 998,000
OFAEHAE JIsESMY 888,000
= 888,000
HAESEZ HE(Z1D) 1,302,000 1,760,000 458,000
2 1,250,000
[= 52,000
403 XXIESHSKH=0lE 1,302,000 1,760,000 A458,000
= 1,250,000
< 52,000
01 MXSHA=EX 1,302,000 1,760,000 458,000
OFAESHZ HEY 1,302,000
= 1,250,000
[= 52,000
HAUERSI9F HE(2D) 520,000 361,600 158,400
2 500,000
[= 20,000
403 XXIESHSKH=0E 520,000 361,600 158,400
2 500,000
[= 20,000
01 MXSHMA=2E= 520,000 361,600 158,400
OHAHRSIOE HE 520,000
2 500,000
< 20,000
LT HHYH I AT SEAL &#2(2D) 2,600,000 1,000,000 1,600,000
2 1,600,000
[= 1,000,000

401 AIEHIZ 208 2,600,000 1,000,000 1,600,000




A HEEALEL
M Ol 8= HAE SH(ARSX/ el - EAH)

CHol HAWE SPAE 5 (crel @
_ _ _ Muo
SA-EFH - SA(SAH) - MREAY - BES Off &F OH Ofl At ot Hws2
Z 1,600,000
= 1,000,000
01 Al&Yl 2,600,000 894,000 1,706,000
OHBIZI BT SUAIL &5 2,600,000
= 1,600,000
= 1,000,000
ATHAHZ 2T 2535 N 50,000 0 50,000
307 ©I2r0l M 50,000 0 50,000
02 QI2HAE R 50,000 0 50,000
OLATHHBHIRI+BE ME2 FH P 50,000
BHS LU (MSHL2ED) (OIEHIIEH 74,105 72,530 1,575
ol e 42,220 42,220 0
Ted oA X 42,220 42,220 0
101 21244 42,220 42,220 0
02 JIEtE 24 42,220 42,220 0
OH AR 2t3 42,220
0J1=23 33,718,3002 %1% 33,719
Os4g 1,200
-HH 2 Xt 40,0008 1+ 12 480
S IPIE 20,0008 3 * 12 720
OF HZ Al 130,0002 * 12§ x 128 1,560
O Al 2,809,850% +70/100%1/30%112 722
OxzE x| 140,000+ 14 x 128 1,680
Ols I3 50,0008+ 1+ 12 600
OANZel2Rsy 6,520 %351 2H+ 122 2,739
o122l 31,885 30,310 1,575
SN2Y JI=2Y 31,885 30,310 1,575
201 Yer2oy| 23,425 22,130 1,205
01 Ar22t2It| 23,425 22,130 1,205
ORN2Y ARl 23,425
202 01| 8,160 7,680 480
01 2U0td| 8, 160 7,680 480
oORN2Y U0l 8, 160
405 XtabE S| 300 500 A200
01 KU SEFSH 300 500 £200
oA ¢l 300




